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1. Before attempting the question paper, kindly check your Question Booklet(QB) and O.M.R. Answer Sheet and ensure that:

- Serial number of Question Booklet(QB) and OMR Answer Sheet is same.

- All pages and all questions are properly printed

In case of any discrepancy/defect, the candidate should immediately report the matter to the Invigilator for replacement of Question

Booklet(QB) and OMR Answer Sheet. No claim/objection in this regard will be entertained after five minutes of start of examination,
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Read all instructions on the reverse of OMR Answer Sheet.

On OMR Answer Sheet, use blue ball point pen only. Please, fill your Roll No. and other information correctly in OMR Answer Sheet.

If more than one response is marked for a question, it would be treated as wrong answer.

1/3 part of the mark(s) of each question will be deducted for each wrong answer. (A wrong answer means an incorrect answer or more

than one answers for any question).

Each question has five options/circles. First four options/circles (A), (B), (C) and (D) are related to appropriate answer and fifth

option/circle ‘(E)’ isrelated to ‘Question not attempted’.

7. To indicate the correct answer, the candidate has to fill in only one option/circle (A), (B), (C) or (D) with blue ball point pen for
respective question number on the OMR Answer Sheet. If the candidate does not want to answer any question then the fifth option/
circle ‘(E)’ should be darkened.

8. 1/3 part of the marks will be deducted for the questions, if none of the option/circle are darkened.

9. If a candidate leaves more than 10 percent questions or does not darken any of the five options, he/she will be disqualified for the
exam.

10. Candidate will be given 10 minutes extra to make sure, if he/she has filled up any one option/circle for each questions.

11. If there is any sort of ambiguity / mistake either of printing or factual in nature in Hindi or English version of questions, then the
English Version will be treated as final.

12. Use of Mobile Phone / Bluetooth Device or any other electronic gadget in the examination hall is strictly prohibited. If any such
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The relation between the focal length (f) and radius of

curvature (R) of a concave mirror is:

(A) f=2R ® f-%

© f=R o =%

(E) Question not attempted

Which of the following states won the 15"

Senior Men National Championship 2025?
(A) Punjab (B) Haryana
(C) Uttar Pradesh (D) ‘Rajasthan
(E) Question not attempted

Hockey India

Who was the chief guest for India’s 76 Republic Day
celebrations in 20257

(A) Emmanuel Macron
(C) Abdel Fattah El-Sisi
(E) Question not attempted

(B) Prabowo Subianto
(D) Joko Widodo

Name the spacecraft used for launching astronauts, inclusing
Shubhanshu Shukla, into space (in June 2025) for conducting
biological research at the International Space Station?
(Choose the most appropriate option from below)

(A) Apollo 11 (B) Vostok 1

(C) Axiom 4 (D) Spaceball 1

(E) Question not attempted

Which indigenous missile system demonstrated stellar
performance in Operation “SINDOOR”?

(A) Prithvi (B) Akash

(C) Agni (D) BrahMos

(E) Question not attempted

In which Indian state was the “Shirui Lily Festival-2025”
celebrated?

(A) Nagaland

(C) Manipur

(E) Question not attempted

(B) Assam
(D) Meghalaya

According to India Skills Report-2025, what is the position
of Rajasthan in terms of providing employment resources to

b

Which of the following wetlands of Rajasthan has been

women?

(A) First

(C) Third

(E) Question not attempted

(B) Second
(D) Fourth

declared as a Ramsar site in June 2025?

(A) Devikund, Bikaner (B) Didwana, Nagaur
(C) Menar, Udaipur (D) Bada Talab, Ajmer
(E) Question not attempted

Which lake in Rajasthan has been renamed as Varun Sagar
lake?

(A) Nakki lake

(C) Foy Sagar lake

(E) Question not attempted

(B) Samand lake
(D) Kaylana lake
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In which city of Rajasthan, “Rashtriya Sahakar Masala
Mela-2025” was held?

(A) Alwar

(C) Bhilwara

(E) Question not attempted

(B) Jaipur
(D) Jaisalmer

Which of the following regions is associated with South-
Eastern Plains (Hadoti Plateau) of Rajasthan? (Choose the
most appropriate option from below)

(A) Baran (B) ' Sirohi

(C) Ajmer (D) Alwar

(E) Question not attempted

Which of the following components is found in high
percentage in the desert soil of Rajasthan? (Choose the most
appropriate option from below)

(A) Organic matter (B) Calcium carbonate

(C) Potassium (D) Magnesium

(E) Question not attempted

Which district of Rajasthan had the highest percentage of
rural population (with respect to its urban population) as per
the Census of India (2011)?
(A) Dungarpur

(C) Pali

(E) Question not attempted
Which of the following is the term used for hot, dry and
dusty winds that blow during the summer in Rajasthan?

(Choose the most appropriate option from below)
b

(A) Mavath (B) Katabatic
(C) Loo (D) Monsoon

Keoladeo Ghana National Park is located in which of the
following regions?

(E) Question not attempted
(A) Kota

(C) Bharatpur
(E) Question not attempted

(B) Jhalawar
(D) Jaisalmer

(B) Sawai Madhopur
(D) Baran

Which of the following regions is not associated with the
Todgarh Raoli Wildlife Sanctuary in Rajasthan?

(A) Rajsamand (B) Ajmer

(C) Pali (D) Jhunjhunu

(E) Question not attempted

Which of the following is the largest artificial lake of
Rajasthan?

(A) Lunkaransar

(C) Jaisamand

(E) Question not attempted

(B) Sambhar
(D) Pachpadra

Which of the following Articles of the Constitution of India
ensures equality before the law and equal protection of the
laws within the territory of India?

(A) Article 17 (B) Article 52

(C) Article 14 (D) Article 32

(E) Question not attempted

Who has the authority to determine, by law, the salaries and
allowances of state ministers in India?

(A) President of India

(B) Governor of the concerned state

(C) State Legislature

(D) Parliament

(E) Question not attempted
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The lower courts in the districts of states in India function

under the direct superintendence of the

(A) Parliament (B) High Court
(C) President of India (D) Supreme Court
(E) Question not attempted

Among the following who was the first Chief Justice of the
Rajasthan High Court?

(A) Justice Naval Kishore

(B) Justice K.L. Bapna

(C) Justice Amer Singh

(D) Justice Kamala Kant Verma

(E) Question not attempted

Who is the Cabinet Minister of the Department of Home
Guards under the Rajasthan Government (as of June 2025)?
(A) Babu Lal Kharadi (B) Suresh Singh Rawat

(C) Avinash Gehlot (D) Kirodi Lal

(E) Question not attempted

The Speaker of a state legislative assembly submits his/her
resignation to the

(A) Governor

(B) Chief Minister

(C) Deputy Speaker of that legislative assembly

(D) Chief Justice of the State High Court

(E) Question not attempted

Who among the following was the important ruler who was
credited with re-establishment of the Guhil Dynasty in
Chittor?

(A) Rana Hammir (B) Jaitra Singh

(C) Ratan Singh (D) Maharana Lakha

(E) Question not attempted

In 1857, the soldiers in Nasirabad Cantonment rose in revolt
on which of the following dates?

(A) 28th May (B) 28th April

(C) 28th March (D) 28th February

(E) Question not attempted

Who led the First Cabinet of Greater Rajasthan formed on
March 30, 1949?

(A) Gokul Lal Asawa (B) Manikya Lal Verma

(C) Bhupal Singh (D) Hiralal Shastri

(E) Question not attempted

The famous personality from Rajasthan who wrote “Leeltans
(Poetry)” is:

(A) Vijaydan Detha E‘E

(B) Bavji Chatur Singhji

(C) Gaurishankar Hirachand Ojha

(D) Kanhaiyalal Sethia

(E) Question not attempted

Which of the following is a famous literary work of
Suryamal Mishran?

(A) Vansh Bhaskar (B) Prithviraj Rao

(C) Amolak Batan (D) Batan Ri Phulwari

(E) Question not attempted

Name the author of the Rajasthani novel “Dhoran Ro
Dhori”.

(A) Lakshmi Kumari Chundawat

(B) Yadvendra Sharma

(C) Shrilal Nathmal Joshi

(D) Rameshwar Dayal Srimali

(E) Question not attempted
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On a certain sum, if the compound interest earned during the
second year at the rate of 7% per annum is ¥ 15,729, then
the sum is:

(A) T2,08,215

(©) ¥ 2,10,000

(E) Question not attempted

(B) T 2,09,280
(D) T2,12,355

Vinay invested a total of T 25,000, partly on simple interest
and the remaining on compound interest. If the rate of
interest is 10% per annum and he earned a total of ¥ 5,150
as interest at the end of 2 years, then find the sum invested
on compound interest.

(A) 12,500

(C) 15,000

(E) Question not attempted
If A:B=2:3,B:C=2:5and A:D=1:2, then C:D is:
(A) 8:15 (B) 158

(O 11 (D) 15:2

(E) Question not attempted

B) T 13,800
(D) T 16,000

Kavita is 40 years old and Shailja is 48 years old. After how
many years will the ratio of their ages be 6:7?

(A) 6 B) 8

(©-9 (D) 10

(E) Question not attempted

P, Q and R entered into a partnership by making equal
investments. After 3 months, P withdrew 20 % of his
investment and Q made an additional investment of 50 % of
his initial investment. Find the ratio in their shares of profit
at the end of the year.

(A) 8:15:12

(C) 23:25:14

(E) Question not attempted

(B) 34:55:40
(D) 3:3:4

X and Y can do a work in 6 days and 8 days respectively.
With the help of Z, they can complete the work in 3 days. In

how many days can Z alone do the work?
bk

(A) 14 B) 20
(©) 18 (D) 24
(E) Question not attempted

Pipes P, Q and R can fill a tank in 28 minutes, 35 minutes
and 42 minutes respectively. All these pipes were opened at
the same time. By mistake a drainage pipe was also opened
alongwith pipes P, Q and R. If the tank got filled in 12
minutes, then in how many minutes the drainage pipe can
empty the completely filled tank?

(A) 220 (B) 210

(©) 200 (D) 190

(E) Question not attempted

A person travelling at a speed of 45 km/h reaches his
destination on time. On a particular day he could cover only

half of his journey in % time. What should be his speed
(in km/h) for the remaining journey so that he reaches his

destination on time?

(A) 50

(©) 52

(E) Question not attempted

(B) 36
(D) 60
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(©) gt (D) "R
(E) Agafasg

TS o fefafad @ sadrett § 9 fheshl Io JHaH™
“THRITE-IT % &9 H Hd 82

(A) HAfeeTst (B) TSt
(C) THaSH (D) TIARTIUS
(E) rgafd o

TSR & fmfafad & 8 ffg & 0 “Feiell S weicda
TRy 9 & WeaT o @rer HAE SHar 22 (e § 9wl 3Ugh

forehed =)

(A) AT (B) IR

(C) = (D) TS

(E) i 9

TSR ¥ 31 et ffafad & @ g wew $i aiesfas
forrera =1 v v few 22

(A) IR (B) SEeHT

(C) i (D) AT

(E)  3¥gafa g9
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The bar graph presents the number of wrist watches
manufactured by 5 companies J, K, L, M and N in the year

2024.
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Companies
Find the ratio of number of wrist watches manufactured by
companies J and N taken together to those manufactured by
companies K, L and M taken together.
(A) 505:669 (B) 506 : 669
(C) 506: 671 (D) 507:671
(E) Question not attempted
The life history of saints available in poetry form in
Rajasthani language is known as:
(A) Parchi (B) Raso
(C) Rupak (D) Prakas
(E) Question not attempted

‘What is the main character called in the story ‘Kahan’ told
in Kanhaiya Khayal?

(A) Mediya

(C) Hirachand

(E) Question not attempted

(B) Jogi-Jogan
(D) Duliya

What is the traditional headgear of Mewar called?
(A) Kanchli (B) Kullha

(C) Topi (D) Safa/ Pagdi

(E) Question not attempted

Which of the following instruments widely used in
Rajasthani music is a “Sushir Vadya”?

(A) Kamayacha (B) Dhol

(C) Pungi (D) Morchang

(E) Question not attempted

Which of the following folk deities of Rajasthan is
worshipped by Muslims as “Ramshah-Pir”?

(A) Mallinathji (B) Gopaji

(C) Ramdevji (D) Devnarayanji

(E) Question not attempted

In which of the following regions of Rajasthan is the “Kajli
Teej Festival” uniquely celebrated with grandeur? (Choose
the most appropriate option from below)

(A) Alwar (B) Udaipur

(C) Bundi (D) Jhalawar

(E) Question not attempted

In Rajasthan Usta Art is a prominent part of the cultural
heritage of which of the following cities?
(A) Udaipur (B) Jaisalmer E-E
(C) Bikaner (D) Jaipur

(E) Question not attempted
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oy oy oy J
/ 7 7 7
/ / /

frafefaa & @ 19 TSR TST TR § TS = 37
GITReRTOT frTT o T ShisHe Wit § (S 2025 % ATER)?
(A) SIRET FHTEd (B) a1

(C) AT TRt (D) wed feamer

(E) orgafid 9

frefaiaa o @ wi9-a7 e T 7 1R & 3 sifufEm
(2005)  Gsiferq AHet o fore Sifaw et wifererl & ®a J
T AT 27

(A) G TS, TSTEITT

(B) TSFEITH T FeHT SR

(C) TSR TST A .3T0E. oI

(D) TSR TS =1 9ieg

(E) orgaid g

frefetfiaa ® @ -4 a1q FURA det | Wil St 22

(A) wifem (B) @M
(C) e (D) Hifeaw
(E) orgafd

usrew uftae 3 ffta seaem: e g anfea e
(A) STHEE AR AR IURET (B) STHRE T ST
(C) I 3 AT (D) TFA I AHET
(E) 3¥gafasg

fafore wrrer shifRTerTaTt & ot o foha SIS WS B 82

(A) 28 (B) 40
(C) 23 (D) 48
(E) ¥t = Eﬁ
Tl o = 19 e
= [ (T ) Tt 11 (ST
a. Ul I %
b. @ (Hivew) II. St (sfam)
c. Wt 1. g (fermy)
d. 3rg (forad) IV. WIS
it o e foreedt ® § HE S
(A) a-ILb-1Lc-IV,d-1I
(B) a-ILb-1c-IV,d-1I
(C) a-Lb-I,c-1V,d-1II
(D) a-ILb-1c-1I,d—IV
(E) a9
AEUTE fofct % T Yot 5T 1 410 1 8?
(A) TATER (B) dEIER
(C) E&uA (D) FEIR
(E) ATl 9

o

e o O forae T & 7o fehet <t fwior saman
om?

(A) TOT FwT

(B) !
(C) Sifor f&e gmer

(D) HEWIST 4TS s fife

(E) . 3¥Fafta 99

TS o FUT & | ShedT &t 3 Wbl g7 T S a1ed it
Tl =BT I el STl 22

(A) THETRT
(C) TR

(E) rgafd 9

(B) @A
(D) 9ferl/ afvrert
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Who among the following is the current Cabinet Minister
for Social Justice and Empowerment in the Rajasthan State
Government (as on June 2025)?

(A) Joraram Kumawat (B) Kanhaiya Lal

(C) Avinash Gehlot (D) Madan Dilawar

(E) Question not attempted

Which of the following bodies serves as the final appellate
authority for matters related to the RTI Act (2005) in
Rajasthan?

(A) Organization for Information, Rajasthan

(B) Rajasthan State Information Commission

(C) Rajasthan State RTI Board

(D) Rajasthan State Council of Information

(E) Question not attempted

Which of the following metals is stored in Kerosene Oil?
(A) Platinum B) Gold

(C) Copper (D) Sodium

(E) Question not attempted

The enzymes pepsin and trypsin are secreted respectively
by:
(A)
(B)

Stomach and salivary glands
Stomach and pancreas

(C) Liver and pancreas

(D) Liverand stomach

(E) Question not attempted

How many pairs of chromosomes are present in diploid
human cells?

(A) 28 (B) 40
(C) 23 (D) 48
(E) Question not attempted
Match list I with list II:
List I (Human Disease) List II (Causes)
a.  Tuberculosis I.  Fungi
b. Measles II. Bacteria
c. Malaria III. Virus
d. Ringworm IV. Protozoa

Choose the correct answer from the options given below:
(A) a-II,b-1,c-1V,d-1

(B) a-II,b-I,c-1V,d-1II

(C) a-Lb-II,c-1V,d-1I

(D) a-ULb-Lc-1,d-1IV

(E) Question not attempted

What is the name of the main entrance gate of Nahargarh
Fort?

(A) Hawa Gate

(C) Suraj Pol

(E) Question not attempted

(B) Tadi Gate
(D) Lion Gate

Who among the following built the Gagron Fort in

Rajasthan?
bk

(A) Rana Kumbha
(B) Bijaldev Singh

(C) Zalim Singh Jhala

(D) Mabharaja Sawai Jai Singh

The devotional songs sung by the devotees of Kaila Devi in
the Karauli region of Rajasthan are called:
(A) Humseedo (B) Languriya
(C) Lalar (D) Panihari

(E) Question not attempted
(E) Question not attempted
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TR e TSTET o FoUeT &t o1 freaforfaa o 9 forer st

FIEE AR e

(A) e t.ﬂ (B) @It
(C) TIfEET (D) wME
(E) orgafid 9

frefefiaa o 9 -6 S, TTeTEie ST wdTs JIdTq & 6
IEX IR

(A) AL @I (B) T T

(C) T (D) T it T

(E) gafd o

ffaTfad § & -8 ATehTed FaTrsT Yard g o e
o G ST H 3 gHAT 41?2

(A) THA (B) TRt

(C) qumm (D) =mda

(E) Fgafasg

frfafad # & #F-d g gl S | fud 72

(A) THTET gaelt (B) TR A g

(C) et T gaeft (D) TSI T et

(E) ¥gafaug

R S Ha™ §97 % e i 42 (F 7 § o8 I9qh
forhed =)

(A) . TS JER

(B) OIS TS AR

(C) 1. &3, e

(D) Ufed SETETe 9EE

(E) orgafid o=

qHd § T3 3 TSA9TA o 98 & o1 § fefafaad o @ -
o Tt o7 (et o & el 37k forshed =)

(A) TFE 59 % TSI 1 AT T4 fqemwed & g
ECRRERIIS IR

(B) T=IUTS €8 & fohelt ot we = fopeft s & faummes
% ot T o Tewy T B

(C) TSI O I8 shi S7afer o foTe ue oz @21

(D) T 1 I3 +ff i fore 30 o i 1y O 7 < 2,
TS3AATS T B o fore amt 2|

(E) Fgafasg

Choose the most appropriate option to convert the
following sentence from Active to Passive Voice:

He was passing the ball.

(A)
(B)
©

The ball is being passed by him.
The ball was passed by him.
The ball had been passed by him.

(D) The ball was being passed by him.
(E) siaf@ws

Choose the most appropriate option to convert the
following sentence from Direct to Indirect Speech:

She said to me, “He has submitted the report.”

(A) She said that he has submitted the report.

(B) He said that he had submitted the report.

(C) She told me that he had submitted the report.

(D) She confirmed that his report was submitted.
(E) 31t v
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The ‘Valar Dance’ is a famous dance of which of the
following tribes of the Sirohi region in Rajasthan?

(A) Bhil (B) Dholi

(C) Garasiya (D) Kamad

(E) Question not attempted

Which of the following is a folk theatre of Dausa, Lalsot and
Sawai Madhopur regions?
(A) Jaipuri Khyal

(C) Hela Khyal

(E) Question not attempted

(B) Kuchamani Khyal
(D) Turra Kalangi Khyal

Which of the following folk dramas originated in Jaipur
during the reign of Maharaja Pratap Singh?

(A) Rammat (B) Gavri

(C) Tamasha (D) Chaar Baint

(E) Question not attempted

Which one of the following famous Havelis is located in
Jaisalmer?

(A) Rampuria Haveli

(C) Patwon Ki Haveli

(E) Question not attempted

(B) Bagore Ki Haveli
(D) Bhamashah Ki Haveli

Who among the following was the Chairman of the
Constituent - Assembly of India? (Choose the most
appropriate option from below)

(A) Dr.Rajendra Prasad

(B) Ganesh Vasudev Mavalankar

(C) Dr. B.R. Ambedkar

(D) Pt. Jawaharlal Nehru

(E) Question not attempted

Which of the following statements is correct about the
Governor of a State in India? (Choose the most appropriate
option from below)

(A) The Governor of a State is elected by the state
legislative members.

The Governor shall not be a member of either House
of Parliament or of a House of the Legislature of any
State.

The Governor shall hold office for a term of six years.
Any citizen of India who has completed 30 years of
age is eligible for appointment as a Governor.
Question not attempted

®)

©
D)

following sentence from Active to Passive Voice:
He was passing the ball.
(A) The ball is being passed by him.
bk
(D) The ball was being passed by him.
(E) Question not attempted
Choose the most appropriate option to convert the
(A) She said that he has submitted the report.
(B) He said that he had submitted the report.
(C) She told me that he had submitted the report.

(E)

Choose the most appropriate option to convert the
(B) The ball was passed by him.

(C) The ball had been passed by him.

following sentence from Direct to Indirect Speech:

She said to me, “He has submitted the report.”

(D) She confirmed that his report was submitted.

(E) Question not attempted
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Convert the following Assertive Sentence to a Negative

Sentence:

Lokesh has more wealth than common sense.

(A) Lokesh does not have as much common sense as he
has wealth.

(B) Lokesh does not have wealth and common sense.

(C) Lokesh neither has wealth but has common sense.

(D) Lokesh is more wealthy than smart. o
(E) gaid hﬂ
Convert the following Interrogative Sentence to an
Assertive Sentence:

Who does not like to be pampered?

(A) Oh to be pampered by everybody!

(B) Everybody likes to be pampered.

(C) Do you like to be pampered?

(D) Everybody shall be pampered.
(E) siaf@ws

Convert the following Assertive Sentence to an
Exclamatory Sentence:

It is sad that we have lost the match today.

(A) Bravo! We have lost the match today.

(B) Hurrah! We have lost the match today.

(C) Alas! We have lost the match today.

(D) What a sad match today!

(E) 3rgafia g

Choose the most appropriate option to correct the
following sentence:

No sooner I saw the bear than I ran away.

(A) No sooner I had seen

(B) No sooner had I seen

(C) Assoon as I saw

(D) No correction needed

(E) 3rgafa sy

Fill in the blank with the most appropriate word:

It took Anand seven years to this task.

(B) accomplish

(A) accomplice
(C) accompany

(E) orgafdu

Fora-firETaR HieTse Teefiehe 1 = w22 (R 3 &
e 39 forehed =)

(A) foram =t STat Boe S Hehd 7

(B) Toram S1o-t st <t STTHehT T Usfiehe T Tehd &
(C) Tormm fefgeat i STTaTSITE W 51 T Tehd 7

(D) T 3fist oii @ Tl gk 2

(E) 373t 99

frefafaa 3 @ #-ar sifen freen 7@t &2
) B (B) A 3TT™
(C) T S (D) g

(E) rgafd 99

(D) accompanies

ACIE [+]
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Convert the following Assertive Sentence to a Negative

Sentence:

Lokesh has more wealth than common sense.

(A) Lokesh does not have as much common sense as he
has wealth.

(B) Lokesh does not have wealth and common sense.

(C) Lokesh neither has wealth but has common sense.

(D) Lokesh is more wealthy than smart.

(E) Question not attempted

Convert the following Interrogative Sentence to an
Assertive Sentence:

Who does not like to be pampered?

(A) Oh to be pampered by everybody!

(B) Everybody likes to be pampered.

(C) Do you like to be pampered?

(D) Everybody shall be pampered.

(E) Question not attempted

Convert the following Assertive Sentence to an
Exclamatory Sentence:

Itis sad that we have lost the match today.

(A) Bravo! We have lost the match today.

(B) Hurrah! We have lost the match today.

(C) ~Alas! We have lost the match today.

(D) What a sad match today!

(E) Question not attempted

Choose the most appropriate option to correct the
following sentence:

No sooner I saw the bear than T ran away.

(A) No sooner I had seen

(B) No sooner had I seen

(C) Assoon as [ saw

(D) No correction needed

(E) Question not attempted

Fill in the blank with the most appropriate word:
It took Anand seven years to this task.

(A) accomplice (B) accomplish
(C) accompany

(E) Question not attempted

(D) accompanies

What is the use of ‘KISAN-GIRDAWARI® Mobile
Application? (Choose the most appropriate option from
below)

(A) Farmers can sell their crops here.

(B) Farmers can self-register their crop information.

(C) Farmers can monitor locust movement.

(D) Framers can buy seeds and fertilizers.

(E) Question not attempted

Which of the following is net an operating system?
(A) Windows 11 (B) Mac OS Tee
(C) Adobe Photoshop (D) Ubuntu tu
(E) Question not attempted
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HISHIETRE IS H AT TS 1 BT o FoIT Th el qiiéehe

2
(A) Ctul+H (B) Ctrl +X
(C) Cul+V (D) Ctrl+2Z
(E) orgafd 9
71 UHUH THA § 9TE 91 3T 91 UTE 39 % 3Hdriq 91U
ST &
(A) 38 (B) ¥™
(OREEEE s (D) WiHeTE
(E) 3¥gafasd
72 39 U, 3AW, ifea 3nfe =1 U Gug ®, S U URL
o HT9eT AT i &
(A) T TP (B) ®TgWfeish
(C) s ugH (D) JsETE
(E) 3¥gaia 9
73 0 ud 1 Afrard fewm 9 ¥ (e § @ wew
I ferehed )
(A) SFEnRal A [Mek (B) @ w1 g
(C) TRl 1 AT (D) Y Tl ema
(E) gafid 9

7 2 a5 A ferer o & o e A
w ® 39
© 3 o Z
(E) ATaia 9y

75 forelt oite 6 e el % 60 forentefal & it 7 siad 43 2
Jefiof ferenfofeft % 7t 1 Sfed 52 B qem ¥l ferenfolai
aaﬁao‘raﬂmm%l a1 7 STl ferefre a1 wferret @ 2

(A) 33 % B) 15%
(C) 36% (D) 25%
(E) 3Fgafa g

76 T RS ThaEq % 2,016 H <<, Fored 3 129 <19 g3l
20% T ITH 3L o feTu 38 98 I foha | st = off 2

(A) T2,177.28 (B) 2,165
(C) 2,160 (D) % 2,154
(E) gafid 9=

77 U farshdn 3 31 QU A3k Tedsh 318,000 H S| T S1gEh W
I 20 T AT S IHA T 34 10% =T g3 70 Tl o
T 34 B3I T T BT TfTd 1
(A) T, 10% (B) ™, 2 %

(©) 7, 2%
(E)  3¥gafa g9

(D)Fﬂ‘?Z %
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In Microsoft Word, the keyboard shortcut used to cut the

selected text is

(A) Cul+H

(©) Cul+V

(E) Question not attempted

(B) Cul+X
(D) Ctrl+Z

In MS Excel, pie charts and bar graphs are found under the
tab.

(A) Insert

(C) Page Layout

(E) Question not attempted

(B) Home
(D) Formulas

A is a collection of web pages, images, videos etc.,
which are addressed relative to a URL.

(A) Web browser (B) Hyperlink

(C) IP Address (D) Website

(E) Question not attempted

is mot an essential part of an E-mail address.
(Choose the most appropriate option from below)
(A) The Username (B) The “@” Symbol
(C) The Recipient’s Name (D) The Top Level Domain
(E) Question not attempted

Find the smallest fraction which is exactly divisible
5 2 4
by -9 and 57

1
w ® 2 i
© 2 o 2

(E) Question not attempted

The average score of a class of 60 students in an examination
is 43. The average score of the students who have passed is
52 and those of failed students is 16. What is the percentage
of failed students in the class?

(A) 33 %% (B) 15%

(©) 36%
(E) Question not attempted

(D) 25%

A shopkeeper sold an item for ¥ 2,016, thereby earning a
profit of 12%. For how much should he have sold it to earn
20% profit?

(A) ¥2,177.28

(C) T2,160

(E) Question not attempted
A dealer sold two used bikes for ¥ 18,000 each. On one bike
he earned 20% profit and on the other he lost 10%. Find his
profit or loss percentage in the whole transaction

(A) Profit, 10% (B) Profit, 2 %

(B) T2,165
(D) 2,154

(©) Loss, 2% (D) Profit, 2‘7%

(E) Question not attempted
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fe foreft Tt shi Teeh SiT T 20% SR ST, Tl 3 o &prthel

ﬁﬂﬁ’aﬂﬁfﬂﬁ%:
(A) 40% (B) 42%
(C) 44% (D) 50%
(E) orgafid 9

HTENOT SIS 9T Ueh fAf3ya eufsr s IS # T 13,080 S8 a¥ o
16,023 B STl 31 sAST Fr Af¥ep a1 @

(A) 8% (B) 9%

©) 11% (D) 12%

(E) 3Fgafa g

Freaferfad § @ -9 ree SATRaT=I 1 1 ISR T € 2
(A) wrd (B) Tm

(C) were (D) femTer

(E) 3¥gaiasg

o7 foreeft FTeft @ A # o forsroT oAt ST gatm 22

(A) TorETE faRIeor (B) HETETE fagiyor
(C) =afharae foramor (D) uftaToraTee faremor
(E) rgafd 9

fmfafiaa 5 @ forg arer § Hetaar=es G 1 T g2 2
(A) 19 AT ST (B) STETE, @r@are

(€) THFBIA (D) &SI TR

(E) Fgafasg

T T eI AR H TR R o R B SR et R

(A) e fopam (B) HI fopa
(C) T T (D) Somedek foram
(E) gafd o
freafafad wei § 4 dqem Tea &

a. TR b. S

c.  gdT d HX

N

e. %o
it o T forhed # & Sl SR 3 T <RI IS

(A) FaeTa3fTb (B) Fad d 3We

(C) Fadda T (D) Faab I d

(E) rgafd 9

= 31 o feu L -

U | : 511 3163 HERT S MTeha & forehd el feedl § o0 &, 5
qEHE FEATA & |

o 11: fordeft v & fewdh v § S77e wredt i1 qgva Fed
g

ITH AT AT H, A o ¢ et § & T 39T
I T I IS

(A) A 1 3T e 11 3T a2

(B) YA I 30 F 11 SH1 TTeAd 8

(C) Y 1 2 QAT e 11 TTeAd 2l

(D) Y 17T & Sifeh o 11 HE 2

(E) Ffaitaud

freforfad & & 39 v1eg 2-

(A) TIa

(C) @

(E) rgaid 9

(B) fah
(D) &R
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If each side of a square is increased by 20%, then the
percentage increase in area of the square is:

(A) 40% (B) 42%

(C) 44% (D) 50%

(E) Question not attempted

On simple interest, a certain sum amounts to ¥ 13,080 in 5
years and to ¥ 16,023 in 8 years. The rate of interest per
annum is:

(A) 8%

©) 11%

(E) Question not attempted

foeferiad 9 9 i9-91 w1ee Hfha=eh €3I T ISR =T 2 ?
(A) WA (B) T
(C) UgEre (D) TewTe™

(E) Question not attempted

o7 foreeett shrefl & AT | forer ferior sh i g 22
(A) T feze (B) HEATET=r feaoor
(C) AT famor (D) gfmTTETEe faiyor

(E) Question not attempted

ffofiad 5 & forg arer & Hetaarses G 1 J g3 2 2
(A) 31T AT SIS (B) Il G ®, |l @iar &
(©) FAFS A (D) T SATeft TR B

(E) Question not attempted

“TIEQAT T <11 TR 8 fohw Tohre <6t foharm shT ST gt @ 2
(A) i fopa (B) H fobamr
(C) wehish bt (D) Sromefa fopam

(E) Question not attempted
frfefad weai § & qeam Tee & -

a. TR T b. 32

c. uEm tﬂ d W

e. ol

it e 7T forshedt | & e IWYeh 3T AT =T HITSC;

(B) 9%
(D) 12%

(A) Fad a3 b (B) Faald e

(C) Fada 3¢ (D) Faab I d

(E) Question not attempted

I & s few o &

T I: ST 3758 TEFHA 3T IThd | forhd et i & ome & 3
A FEAC & |

o [1: Foraelt ATl § few wom & o1 wreai i qgwd Fed
g

I FUAT & AT |, = 1o T Forehedi § § w9 39T
I T 9 FIN:

(A) e 1 3 A 11 ST Ol 2

(B) A 1 30 e 11 1 Teld 8l

(C) YT 1L © AT e 11 7TeTd 2l

(D) o 1 TTeTd € ATk e 11 Tl 2

(E) Question not attempted

ffafad § & 3o wreq 2-
(A) =1d B) faow
(C) @ (D) &R

(E) Question not attempted
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19 g 4 4
TR T T TS TETa T 379 -

(A) TS (B) =Tgd Ry T
(C) HTUTE= BT (D) @1y fireeRt 7
(E) 3¥gaiasg

o Tt ETeRL ff Toft <k fear - ferfetiiad o 9 fora wfehifn
FALR?

(A) T =T S EAT

(B) 3} § M1 T (I
(C) 3T % T8 T3fert & & tﬂ
(D) 39 % BT T AT

(E) rgafd 9

T 1 wfu-faede -

(A) TF+3M (B) d+3M
(C) T+7 (D) T+
(E) orgafd 9
TIIHI 63 H T 3T ¢ -

(A) ¥ (B) wfq
() ¥ (D) Iq
(E) rgafd 9

T o fefafiad § 9 ford & 3 cqtad sgeeria =g
qiiSHT Hed w9 4 ford 22

(A) HAETS (B) R
(C) s (D) R
(E) orgafid 9

2024 H HET WIS (S[3-forcier) & SR fope 7 o TTeaT
T deiafey Sfied (Terdie) a9t 1 STead Ifaerd gst o T2

(Fre1 5§ w=r Sueh forshed )

(A) foresr (B) g

(€ = (D) 3T

(E) orgafd 9

TR | g @i siter o e ot s T R
(A) o=t (B) sHTE

(C) =IvaIed (D) SR

(E) 3¥gaia 9

frfafad & & -8 sty TS % 3 & 7 R a8
2

(A) Sgmia STy (B) STferam afer

(C) g grR g (D) =t =iy

(B) sigafaus

SITUMT 201 1 6 ST TSR o6 fohd fofel H e 1 ga0
RECICI LRSS RERIRIRIY

(A) ST (B) ST

(€) Hax (D) =

(E) Iigafass

S T FHHETG * R AT T Y e
2l

(A) T URTS (B) I+ TS

© =t (D) T

(E) 3¥gatea 99

ACIE [+]

88

89

90

91

92

93

94

95

96

“ TR I T2 TS HETal il 37 8-
(A) dfwEBISE (B) <& qiem A
(C) |G BT (D) o1 e T =T
(E) Question not attempted

| Tt Bret oft 7uft < femamar - fmfefiaa § @ forg @rhife
FAFR 2

(A) T =47 S ST

(B) eIl § BT TS

(C) ™ % 3T T[3ferdi % aW

(D) 378 % T T AT

(E) Question not attempted

T 1 Eir-faese gm-
(A) TT+31 (B) 7+39
(C) |+ (D) T+39

(E) Question not attempted
TEITHTC IT63 H TH T 2 -
(A) ¥ (B) wfa
(©) 3% (D) Fq
(E) Question not attempted

In which of the following regions of Rajasthan is the
“Parwan Multipurpose Irrigation Project” primarily located?

A) Jhal B) Bik:
(A) Jhalawar (B) Bikaner E'E

(C) Barmer (D) Sirohi
(E) - Question not attempted
Which month during the monsoon season (June-September)

in 2024 recorded the highest percentage of long period
average (LPA) rainfall in Rajasthan? (Choose the most
appropriate option from below)

(A) September (B) July

(C) June (D) August

(E) Question not attempted

The “Hamja Kheri Dam” in Rajasthan has been constructed
on which river?

(A) Sivani

(C) Chambal

(E) Question not attempted

(B) Banas
(D) Banganga

Which of the following Dams is not situated in Udaipur
region of Rajasthan?

(A) Badgaon Dam

(C) Fateh Sagar Dam

(E) Question not attempted

(B) Bagolia Dam
(D) Mashi Dam

As per Census 2011, which district of Rajasthan recorded
the second highest density of population?

(A) Ajmer (B) Bikaner

(C) Bharatpur (D) Bundi

(E) Question not attempted

‘Banas’ river originates from the place known as

near by Kumbhalgarh.
(A) Nag Pahar (B) Veron Ka Math
(C) Durg (D) Shivalik

(E) Question not attempted
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98

99

100

101

102

103

[ERY
]
[N

13 13 3
freaferfiaa § & -91 TS TS TSR SR TS 2,
ST foF THUETSTE g 31-12-2024 1 feufa § S wia &
G AT o Usd/ehg AT TeIEr forewor § ggian m 87

(A) 216A e  (B) 315A
(C) 702D hﬁ (D) 168A
(E) orgafd 9

ThIeT TSI 9T et el X oFT shadl &€ ool Ffafaa # @
Torr et A (rferam) =1 fewa 82 (Rt o & wer 39T

fereed )

(A) qE-ufEm FifEr (B) IW-r0T ISR
(C) ferurgd =ifer (D) YE-3T FHIMEK
(E) orgafd o

AT H TSI STIET Yl TR0 (T S TH T) 3T qcdl Ll
S

(A) Tregafd (B) s e HAt
(C) e waft (D) FHfereafa
(E) Fgafaug

TSR | “Forary] Iitadd Ud Fee fawm & (¢ < @)
TeRIg” ST TATYAT fohar fordmT & aea <1 82

(A) TS IATASH foamT

(B) TSHEIT TS JuvT =07 i

(C) = fowm

(D) TSI 3T sl (70

(E) rgafd 9

Fill in the blank with the most appropriate article:
He earns seventy thousand rupees year.

(A) a (B) the

(C) an (D) Not applicable
(E) i o

Fill in the blank with the most appropriate option:

Do you have food left?

(A) afew (B) any
©) a (D) little
(E) ¥gafasg

Match List-I with List-I1:
List-I (Sentences) List-II (Preposition)
a. Prem was sentenced L
death by the
Judge.
b.  Forlack II.
money, he could not
continue his education.

over

on

c.  The cat jumped 1. of
the fence.

d.  The doctor decided to
operate
immediately.

Choose the correct answer from the options provided:

(A) a-1,b-1V,c-1I,d-1II

(B) a-II,b-Lc-IV,d-1I

(€©) a-1V,b-1I,c-1L d-1I

(D) a-1V,b-1c-1,d-1I

(E) 3¥gatea 99

IV. to
his arm

ACIE [+]
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Which of the following National Highways passes through
Rajasthan, as per the NHAI India Road Network State/UT-
wise details of National Highways (as on 31-12-2024)?

(A) 216A (B) 315A

(C) 702D (D) 168A

(E) Question not attempted

The Cable Stayed Bridge across the Chambal River on Kota
bypass is a part of which of the following National
Corridors? (Choose the most appropriate option from below)
(A) East-West Corridor ~ (B) North-South Corridor
(C) South- East Corridor (D) East-North Corridor

(E) Question not attempted

The National Disaster Management Authority (NDMA) in
India is headed by the:

(A) President

(C) Prime Minister

(E) Question not attempted

(B) Union Home Minister
(D) Cabinet Secretary

Under which department was the “Climate Change and
Clean Development Mechanism (CDM) Cell” established
in Rajasthan?

(A) State Planning Department

(B) Rajasthan State Pollution Control Board

(C) Forest Department

(D) Rajasthan Renewable Energy Corporation

(E) Question not attempted

Fill in the blank with the most appropriate article:

_ year E'E

(B) the
(D) Not applicable

He earns seventy thousand rupees
(A) a

(C) an

(E) Question not attempted

Fill in the blank with the most appropriate option:

Do you have food left?
(A) afew (B) any
(©€) a (D) little

(E) Question not attempted

Match List-I with List-11I:

List-I (Sentences) List-IT (Preposition)

a. Prem was sentenced I. over
death by the
Judge.
b.  For lack II. on
money, he could not
continue his education.
c.  The cat jumped [I. of
the fence.
d.  The doctor decided to IV. to
operate his arm

immediately.
Choose the correct answer from the options provided:
(A) a-1,b-1V,c-1I,d-1II
(B) a-MI,b-Lc-1V,d-TI
(C) a-1V,b-1Lc-TI,d-1
(D) a-IV,b-1l,c-1,d-1I
(E) Question not attempted
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104 Choose the sentence with the most appropriate use of

punctuation.

(A) 1 think you’re, wrong Jonty.
(B) Bring me, some fruit Priya.
(C) Itis cloudy? It may rain.

(D) They will come, won’t they?
(E) orgafid 9

Choose the most appropriate option to transform the given

sentence from Hindi to English:

39 el H A1 3HU § AT qHAE |

(A) Tanya is sharper than anybody else in the class.

(B) Tanya is more punctual than others in the class.

(C) Tanya is never on time in her other class.

(D) Tanya is otherwise the most punctual girl in every
class.

(E) 3¥gafia s

Choose the most appropriate option to transform the
following sentence from English to Hindi:

She listened to my advice attentively.

(A) I8 4 T8 AHYEH G |

(B) ﬁmﬁﬁﬁwm@?ﬁ |

(C) & Ul geTe gﬁﬁwﬁmﬁ@ﬁ |

(D) i TeTE weshar § g TS |

(E) 3¥gaia g

What is the technical term for a document which is genuine?
(A) Domicile (3TF PEIL)) (B) Evacuation (ﬁfm"l'{?)

(C) Bona-fide (IMHT0TH) (D) Constitution (Hfem)
(E) Agafasg

freafaRad o & TsreeT 1 -9 T STqisd €T % e
EQiE R

(A) ®aRt P
(€) e

(E) 3¥gaiasg
ffcTRad o & TSEAH & SH-A1 & ST § 1o |
[T T e 82 (e § & e 39 forehed =)

(A) AT (B) <

(C) it (D) AN

(E) rgafd 9

| <l SFRTUMT (2011) % STTEN, TSTEA T 38 e
(TS 1 Tt SIEEAT & Hael H) T fepa ferra o2 (et
o w30 forhed )
(A) 25%

(C) 38%

(E) 3¥gaiase
‘SR Ieq § SHI9-8T T B2

(A) gar (B) T
(C) . & (D) S&
(E) gaidaws
frefefaa 8 @ <stfer 1 qaigarh T8 8-
(A) =g B) 3T
(C) @ (D) =qaT
(E) rgafd 9

(B) 9@
(D) Tepammrg

(B) 40%
(D) 42%
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104 Choose the sentence with the most appropriate use of

punctuation.

(A) Ithink you’re, wrong Jonty.
(B) Bring me, some fruit Priya.
(C) Itis cloudy? It may rain.

(D) They will come, won’t they?

(E) Question not attempted E.E

Choose the most appropriate option to transform the given

sentence from Hindi to English:

59 el H a1 38§ AT qHAB |

(A) Tanya is sharper than anybody else in the class.

(B) Tanya is more punctual than others in the class.

(C) Tanya is never on time in her other class.

(D) Tanya is otherwise the most punctual girl in every
class.

(E) Question not attempted

Choose the most appropriate option to transform the
following sentence from English to Hindi:

She listened to my advice attentively.

(A) G4 FQATE A G |

(B) a1 T & B0 HoTe T @ oft |

(C) I HATE G B T |

(D) ﬁﬁmw&‘mﬁwﬂé |

(E) Question not attempted

‘What is the technical term for a document which is genuine?
(A) Domicile (3TFEI7>|TH) (B) Evacuation (ﬁTm"I'H)
(C) Bona-fide (EITCITﬁW) (D) Constitution (FI"%T‘H'IT-T)

(E) Question not attempted

Which of the following places of Rajasthan is nearest to the
International Border?

(A) Phalodi

(C) Tanot

(E) Question not attempted

(B) Pokhran
(D) Kishangarh

Which of the following regions of Rajasthan does not share
its boundary with Haryana? (Choose the most appropriate
option from below)

(A) Hanumangarh

(C) Sikar

(E) Question not attempted

(B) Dausa
(D) Alwar

What was the approximate percentage of urban population
of Rajasthan (with respect to the total population of the
state), as per the Census of India (2011)? (Choose the most
appropriate option from below)

(A) 25% (B) 40%

(C) 38% (D) 42%

(E) Question not attempted

SEIET 368 H HH-81 T T2

(A) 3 (B) G

(C) o (D) S

(E) Question not attempted

Freaferfiaa § 9 <stf@ w1 waia= T8 -

(A) =g B) T

(C) T (D) =

(E) Question not attempted
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113 ‘99T’ Teg o1 fai I 372 BIMTI- 113 ‘99T’ I7e¢ T {IITH o2 G-

(A) M= (B) = (A) M= (B) F=®
(C) foreey (D) wmE (C) Feuer (D) @mE
(E) 341?1‘[1?1";[% (E) Question not attempted
114 S SEd SIHaT & aATRIeT % fore 3ferd wree 2 - 114 S g SaT & ares ¥ fore 3fera grs2 2 -
(A) s&d (B) & (A) sgd (B)
©) P (D) &= (C) Fad (D) &=
(E) 34':13115{?[ a9 (E) Question not attempted

115 =fIRad # € 31 3163 o1 = HifSw: 115 frefafed § & g wrse & =21 Fif:

(A) iR (B) dTiamh (A) e (B) WTf@EmE
(C) =iefes (D) wETERE E-E (C) =i (D) TEIHRT
(E) Wﬁﬁ a9 (E) Question not attempted

116 freferfiad amet 3 & g 9T 1 == HT 116 frefafad smit & & 318 a1 1 7o Hif:
(A) T S =0 H G e (A) T S G B
(B) HTH il STV T I E| (B) B 1 7T T
(C) SATIHT Wl (C) SATYHT WerH|
(D) oSl TS I I TS AT (D) TSI TS F 99 IS A7)
(E) 34‘:!3?[11?1’ aq (E) Question not attempted

117 W1+ TS U1 &1 a1 fohd it § Heiferd &7 117 “SIST 3 913 9T 81" AT fohd it § Gaifrd 82

(A) HfE qehre (B) ETHTT FhIT (A) ©few sehTet (B) TTHIRT I
(C) TE AT (D) Y ¥fcrehret (C) 3TH= a1 (D) ot Tt
(E) rgafd 9 (E) Question not attempted

118 THTF ST TS 6 5101 ST 1 A EAT T it FoI 21 ST |19 vy vy o 6 ey o oy vy oy v forsran e &) wmey
ST Soh2 3T T T 1 0 forta 218 7o o et (Fr0) T Yohe Tt §T VST 1 O ol e ot okt et (1) 3

=TI BT =Tl BT

(A) Sio=feh o (B) i (A) SR o (B) uftw

(C) ST o (D) o= o (C) 3TTEHARE T (D) T o=
(E) 3Fgafa 9 (E) Question not attempted

119 e T 7 fawet  faven foemm = 15 fo et O W 99 | 19 sy rvenm 3 feeett 3 Rran B 1 15 B weet o o S

| fSrerehT T STH 7 1 9 =19 Reminder 97Tl ‘Reminder’- ofT| fSTehT ST ITH 7 €9 92 3784 Reminder 97Tl ‘Reminder’-
158 o foru 3fura fewdt wrsg o8 o foru 3fura few<t ree 2

(A) e (B) STIEHTH (A) SergerT (B) STEHTH

(C) 9= (D) T TS (C) I (D) T AT

(E) gafid 9% (E) Question not attempted

120 Fill in the blank in the following sentence with the most | 129 Fj|| in the blank in the following sentence with the most

appropriate tense form: appropriate tense form:

The radio since 10 p.m. yesterday. The Theradio since 10 p.m. yesterday. The neighbours

neighbours were getting disturbed because of it. were getting disturbed because of it. ||,|.-|=
(A) would play (B) had been playing (A) would play (B) had been playing
(C) plays (D) have had played (C) plays (D) have had played

(E)  SITaRa 94 (E) Question not attempted

ACIE [+]
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SPACE FOR ROUGH WORK / T% & o feu T

bk

S G a1 Wit - et wfd 3 T i, adter wwifh o wier et ied @ e wierrell 3Tt b i AT gidat ders i Er,
rdterelt St et Sifer =t 37er e <6 | <fiefeh ST ST etk ol et i il A o ST R, el i =6t 7o Sid 9 e o11ee 9 Aig
G Geieh 3FefT skt oitereff shi @ | ofteqreff faetar gfd skt ST |er of S |

ACIE [+]
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